brother.

FACSIMILE EQUIPMENT
PARTS REFERENCE LIST

MODEL: FAX520DT/520MC



1. In the case of ordering parts, it needs mentioning the following items:

NOTES FOR USING THIS PARTS REFERENCE LIST

(1) Code
(2) Q'ty

(3) Description

Note: No orders without Parts Code or Tool No. can be accepted.

[ Example]

3)
l

REF.NO.

CODE

DESCRIPTION

REMARKS

2. The original of this list was made based on the information available in January 16, 1997.

3. Parts change will be informed by the technical information.

COUNTRIES

On this Parts Reference List, the following codes are used for country names.

GER GERMANY

FRA FRANCE

NOR NORWAY

NLD NETHERLANDS
IRL IRELAND

AUS AUSTRIA

ISR ISRAEL

SWE SWEDEN

UK UNITED KINGDOM
ARL AUSTRALIA

BEL BELGIUM

CHE SWITZERLAND

FIN FINLAND

ITA ITALY

POR PORTUGAL

NZ NEWZEALAND




MODEL FAX520DT/520MC




REF.NO. CODE Q'TY DESCRIPTION REMARKS
1 UF6612000 1| SEPARATION ROLLER GEAR
2 UF6613001 1| SEPARATION ROLLER .
3 UF6625001 1] ACTUATORF
4 UF6626001 1] ACTUATORR
5 UF6675001 11CI1S
6 UF6628000 1{ CISHOLDERR
7 UF6629000 11 CISHOLDERL
8 087310815 2 | TAPTITE, CUP B M3X8
9 UF6646001 11 CIS LEAF SPRING
10 UG3645001 1| CIS-MAIN HARNESS
11 UF6645000 1| CIS HOLDER PLATE
12 UF6630001 2| SPRING, COIL
13 UF6618001 1| WHITE PRESSURE ROLLER
14 UF6620000 1| WHITE PRESSURE ROLLER GEAR
15 UF6638001 1| BUSHINGR
16 087310815 2| TAPTITE, CUP B M3X8
17 UF6677001 1| RECORDING HEAD ASSY
18 UG3646001 1| MAIN-HEAD HARNESS
19 UF6676001 1] CUTTER ASSY
20 UF5535001 3 | SPRING, COMPRESSION
21 UF6706001 1| PLATEN ASSY
22 UF6711000 1{ BUSHINGR
23 UF6905001 11 CUTTER CHUTE
24 087320815 2| TAPTITE, CUP S M3X8
25 UF6631001 1| TH RELEASE LEVER ASSY
26 UF8965001 1| DRIVING GEAR UNIT
26-1 UG3679001 1| CUTTER SENSOR ASSY
26-2 UF6622001 1| TAPTITE,PAN B M1.6X8
27 226317001 1} MOTOR
28 UF6665000 11 MOTOR BRACKET
29 UG3512001 1| MOTOR-MAIN HARNESS
30 U24014001 4| TAPTITE, CUP S M3.0X6
31 UF8982001 1| CONTROL PANEL ASSY, GRAY(1395)
FOR UK/FRA/NOR/BEL/CHE/IRL/ISR/POR/SWE/CYP
31 UF8982002 1| CONTROL PANEL ASSY, GRAY(1395) FOR NLD/FIN/ITA
31 UF8982003 1] CONTROL PANEL ASSY, GRAY(1395) FOR GER/AUS
31 UF8983001 1| CONTROL PANEL ASSY, WHITE(1397) FOR ARL/NZ
31-1 UF6810001 1| PANEL REAR COVER
31-2 087310815 4] TAPTITE, CUP B M3X8
31-3 UF8786001 11 PANEL PCB ASSY
31-4 UA0272001 2 | TAPTITE, CUP B M2.6X8
31-5 UF6680001 1| FPCKEY
31-6 UF6459001 11LCD
31-7 UG3636001 1 { MICROPHONE ASSY
31-8 UG3616001 1| PANEL-MAIN HARNESS
31-9 UF6681001 1| ADF PLATE ASSY
32 UF8853001 1| PANEL SHEET FAX520DT FOR GER/AUS
32 UF8854001 1| PANEL SHEET FAX520DT FOR UK/CYP
32 UF8855001 1| PANEL SHEET FAX520DT FOR FRA
32 UF8857001 1| PANEL SHEET FAX520DT FOR NOR
32 UF8858001 1| PANEL SHEET FAX520DT FOR BEL
32 UF8859001 1| PANEL SHEET FAX520DT FORNLD
32 UF8810001 1| PANEL SHEET FAX520DT FOR CHE/IRL/POR
32 UF8860001 1{ PANEL SHEET FAX520DT FOR FIN
32 UF8863001 1] PANEL SHEET FAX520DT FOR ITA
32 UF8864001 1| PANEL SHEET FAX520DT FOR ISR
32 UF8865001 1] PANEL SHEET FAX520DT FOR SWE

MODEL

FAX520DT /520MC




REF.NO. CODE Q'TY DESCRIPTION REMARKS
32 UF8856001 1| PANEL SHEET FAX520MC FOR ARL/NZ
33 UF6864001 1| ADDRESS LABEL
34 UF6829001 1| RECORDING PAPER COVER ASSY, GRAY(1395)
FOR GER/UK/FRA/NOR/BEL/NLD/CH E/IRL/FIN/AUS/ITA/ISR/POR/SWE/CYP
34 UF6829002 1| RECORDING PAPER COVER ASSY, WHITE(1397) FOR ARL/NZ
35 087311015 2| TAPTITE, CUP B M3X10
36 UF6751001 1| INNER COVER, GRAY(1395)
FOR GER/FRA/NOR/NLD/CH E/IRL/FIN/AUS/ITA/ISR/POR/SWE
36 UF6751002 1| INNER COVER, WHITE(1397) FOR ARL/NZ
37 UF6712001 1| B/T INNER COVER, GRAY(1395) FOR UK/BEL/CYP
38 UF6752001 1| ROM COVER, GRAY(1395)
FOR GER/UK/FRA/NOR/BEL/NLD/CH E/IRL/FIN/AUS/ITA/ISR/POR/SWE/CYP
38 UF6752002 1| ROM COVER, WHITE(1397) FOR ARL/NZ
39 UG3188001 1] BATTERY ASSY
40 UF8733001 1| MAIN COVER, GRAY(1395)
FOR GER/UK/FRA/NOR/BEL/N LD/CHE/IRL/FIN/AUS/ITA/ISR/POR/SWE/CYP
40 UF8733002 1| MAIN COVER, WHITE(1397) FOR ARL/NZ
a4 UF5745000- 1] MJCOVER, EXT FOR GER/FRA/NLD/FIN/AUS/ITA/SWE
42 UF7095000 1 { MJCOVER, H/S FOR UK/BEL
43 UG3005000 1| FERRITE CORE: 16X8X10
44 UF6753000 1] PANEL LOCK LINK
45 UF6763001 1] ACS GROUND SPRING
46 UG3514001 1| SPEAKER ASSY
47 UF6754001 1| HOOK LEVER, GRAY(1395)
FOR GER/FRA/NOR/NLD/CHE/IRL/FIN/AUS/ITA/ISR/POR/SWE
47 UF6754002 1| HOOK LEVER, WHITE(1397) FOR ARL/NZ
48 UF6932001 1| SPRING, COMPRESSION
FOR GER/FRAJARL/NOR/NLD/CH E/IRL/FIN/AUS/ITA/ISR/POR/SWE/NZ
49 UF6756001 1| ACTUATOR PE
50 UF6755001 1| SPRING, COMPRESSION
51 UF6758000 1] ACS PLATE
52 UF6759001 1| SPRING, COMPRESSION
53 UF6760000 11 BOTTOM PLATE
54 UF6762000 1| GROUNDING PLATE
55 UF6761001 2 { RUBBER
56 087310815 4| TAPTITE, CUP B M3X8
57 UF6983001 1| MAIN PCB SUB ASSY FOR ISR/NZ
57 UF8984011 1| MAIN PCB SUB ASSY
FOR GER/UK/FRA/ARL/NOR/BEL/NLD/CHE/I RL/FIN/AUS/ATA/SWE/CYP
58 UG2422003 1| PROM:520DT-2M FOR GER/CYP
58 UG2422004 1| PROM:520DT-2M FOR UK
58 UG2422005 1| PROM:520DT-2M FOR FRA
58 UG2422007 1] PROM:520DT-2M FOR NOR
58 UG2422008 1] PROM:520DT-2M FOR BEL
58 UG2422009 1| PROM:520DT-2M FOR NLD
58 UG2422010 1| PROM:520DT-2M FOR CHE
58 UG2422011 1| PROM:520DT-2M FOR IRL
58 UG2422012 1| PROM:520DT-2M FOR FIN
58 UG2422014 1| PROM:520DT-2M FOR AUS
58 UG2422016 1 [ PROM:520DT-2M FORITA
58 UG2418001 1| PROM:520DT-2M FOR ISR
58 UG2422018 1] PROM:520DT-2M FOR POR
58 UG2422026 1| PROM:520DT-2M FOR SWE
58 UG2422006 1| PROM:520MC-2M FOR ARL
58 UG2422027 1} PROM:520MC-2M FOR NZ
59 UF8985001 1] NCU PCB ASSY FOR GER
59 UF8986004 11 NCU PCB ASSY FOR UK

MODEL FAX520DT/520MC




REF.NO. CODE  |Q'TY DESCRIPTION REMARKS
59 UF8987005 1| NCU PCB ASSY FOR FRA
59 UF8988006 1] NCU PCB ASSY FOR ARL
59 UF8986007 1| NCU PCB ASSY FOR NOR/SWE
59 UF8989008 1| NCU PCB ASSY FOR BEL
59 UF8989009 1| NCU PCB ASSY FOR NLD
59 UF8988010 1| NCU PCB ASSY FOR CHE
59 UF8989011 1| NCU PCB ASSY FOR IRL
59 UF8989012 1| NCU PCB ASSY FORFIN
59 UF8989014 1| NCU PCB ASSY FOR AUS
59 UF8989016 1| NCU PCB ASSY FORITA
59 UF8989018 1| NCU PCB ASSY FOR POR
60 UF6972001 1| POWER SUPPLY PCB ASSY
FOR GER/FRA/ARL/NOR/NLD/CHE/IRL/FIN/AUS/ITA/ISR/POR/SWE/NZ
60 UF6974001 1| POWER SUPPLY PCB ASSY FOR UK/BEL/CYP
61 UG3680001 1| AC CORD ASSY FOR GER/FRA/NOR/BEL/NLD/FIN/AUS/ITA/POR/SWE
61 UG3681001 1| AC CORD ASSY FOR UK/IRL/CYP
61 UG3682001 1| AC CORD ASSY FOR ARL/NZ
61 UG3683001 1| AC CORD ASSY FOR CHE
61 UG3684001 1| AC CORD ASSY FOR ISR
62 UF4444001 1| SCREW, PAN(P WASHER) M4X6
63 UG3517001 1| POWER-MAIN HARNESS
64 UF6857001 1| HANDSET, GRAY(1395)
FOR GER/FRA/NOR/NLD/CHE/IRL/FIN/AUS/ITA/ISR/POR/SWE
64 UF6857002 1| HANDSET, WHITE(1397) FOR ARLNZ
65 UF6883001 1| B/T HANDSET (WITH HANDSET CURLED CORD), GRAY(1395) FOR UK/CYP
65 UF6885001 1| B/T HANDSET (WITH HANDSET CURLED CORD), GRAY(1395) FOR BEL
66 UG3543001 1| HANDSET CURLED CORD ASSY, GRAY(1395)
FOR GER/FRA/NOR/NLD/CHE/IRL/FIN/AUS/TA/ISR/POR/SWE
66 UG3543002 1| HANDSET CURLED CORD ASSY, WHITE(1397) FOR ARL/NZ
67 UL8230001 1| TELEPHONE LINE CORD FOR GER
67 UL8211001 1| TELEPHONE LINE CORD FOR UK/CYP
67 UL8290001 1| TELEPHONE LINE CORD FOR FRA
67 UG3299001 1| TELEPHONE LINE CORD FOR ARL
67 UL8384001 1| TELEPHONE LINE CORD FOR NOR
67 UL8219001 1| TELEPHONE LINE CORD FOR BEL
67 UL8231001 1| TELEPHONE LINE CORD FOR NLD
67 UG4169001 1| TELEPHONE LINE CORD FOR CHE
67 UG3409001 1| TELEPHONE LINE CORD FOR IRL/POR
67 UL8217001 1| TELEPHONE LINE CORD FOR FIN
67 UG4204001 1| TELEPHONE LINE CORD FOR AUS
67 UL8289001 1| TELEPHONE LINE CORD FOR ITA
67 U85683001 1| TELEPHONE LINE CORD FOR ISR
67 UL8218001 1| TELEPHONE LINE CORD FOR SWE
67 UG3290001 1| TELEPHONE LINE CORD FOR NZ
68 UF6820000 1| DOCUMENT TRAY
69 UG3468000 1| BT-MJ ADAPTER FOR NZ
(70) UF6832001 1| THERMAL PLUS LABEL FOR ARUNZ
(71) UF6833001 1| INSERTION R-PAPER LABEL, $1 FOR ARL/NZ
(71) UF6768001 1| INSERTION R-PAPER LABEL, $3
FOR GER/UK/FRA/NOR/BEL/NLD/CHE/IRL/FIN/AUS/ITA/ISR/IPOR/SWE/CYP
(72) UF6841001 1| INSTITUTION R-PAPER LABEL, $1 FOR ARL/NZ
(72) UF6769001 1| INSTITUTION R-PAPER LABEL, $3
FOR GER/UK/FRA/NOR/BEL/NLD/CHE/IRL/FIN/AUS/ITA/ISR/POR/SWE/CYP
(73) UF6840001 1| TH PROTECTION SHEET FOR ARL/NZ
(73) UF6840001 2| TH PROTECTION SHEET
FOR GER/UK/FRA/NOR/BEL/NLD/CHE/IRL/FIN/AUS/ITA/ISR/POR/SWE/CYP

MODEL

FAX520DT/520MC




REF.NO. CODE Q'TY DESCRIPTION REMARKS

(78) UF8894003 OWNER'S MANUAL 520DT-1 FOR GER/AUS
(74) UF8894004 OWNER'S MANUAL 520DT-1 FOR UK/CYP

(74) UF8894005 OWNER'S MANUAL 520DT-1 FOR FRA

(74) UF8894007 OWNER'S MANUAL 520DT-1 FOR NOR

(74) UF8894008 OWNER'S MANUAL 520DT-1 FOR BEL (DUTCH)
(74) UF8894009 OWNER'S MANUAL 520DT-1 FOR NLD

(74) UF8894010
(74) UF8894011
(74) UF8894012
(74) UF8894016
(74) UF8894018
(74) UF8894026
(74) UF8895008
(74) UF8894006

1
1
1
1
1
1
1| OWNER'S MANUAL 520DT-1 FOR CHE (GERMAN)
1 OWNER'S MANUAL 520DT-1 FOR IRL
1] OWNER'S MANUAL 520DT-1 FOR FIN
1] OWNER'S MANUAL 520DT-1 FORITA
1| OWNER’'S MANUAL 520DT-1 FOR POR
1| OWNER'S MANUAL 520DT-1 FOR SWE
1| OWNER'S MANUAL 520DT-2 FOR BEL/CHE (FRENCH)
1| OWNER'S MANUAL 520MC-1 FOR ARL
(74) UF8894027 1| OWNER'S MANUAL 520MC-1 FOR NZ
(75) UF8896001 1| QUICK REFERENCE GUIDE FOR ARL/NZ
(76) UF8897001 1] REMOTE CONTROL GUIDE, 520DT FOR GER/CHE/AUS (GERMAN)
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1

(76) UF8898001 REMOTE CONTROL GUIDE, 520DT FOR UK/IRL/ASR/CYP

(76) UF8899001 REMOTE CONTROL GUIDE, 520DT FOR FRA/BEL/CHE (FRENCH)
(76) UF8901001 REMOTE CONTROL GUIDE, 520DT FORNOR

(76) UF8902001 REMOTE CONTROL GUIDE, 520DT FOR BEL/NLD

(76) UF8903001 REMOTE CONTROL GUIDE, 520DT FOR FIN

(76) UF8905001 REMOTE CONTROL GUIDE, 520DT FOR ITA

(76) UF8906001
(76) UF8907001
(76) UF8900001
(77) UD4086001
(77) UF5118001
77) 237703001
(77) UF5164001
(77) UF5119001
(78) UE1578001

REMOTE CONTROL GUIDE, 520DT FOR POR
REMOTE CONTROL GUIDE, 520DT FOR SWE
REMOTE CONTROL GUIDE, 520MC FOR ARL/NZ
WARRANTY CARD FOR UK/CYP

WARRANTY CARD FOR NOR

WARRANTY CARD FOR NLD

WARRANTY CARD FOR ISR

WARRANTY CARD FOR SWE

CARTON, BROTHER FAX520DT
FOR GER/UK/FRA/NOR/BEL/NLD/CHEilRUFIN/AUS/ITA/ISR]POR/SWE/CYP

(78) UE1579001 11 CARTON, BROTHER FAX520MC FOR ARL/NZ
(79) UE1486001 1] PADLFOR GER/UK/FRA/NOR/BEL/NLD/CHE;’IRUFIN/AUS/ITA/ISR/POR/SWE/CYP
(80) UE1488001 11 PAD R FOR GER/UK/FRA/NOR/BEL/NLD/CH E/IRL/FIN/AUSATA/ISR/POR/SWE/CYP
(81) UE1451001 1| STYROFOAM FOR ARL/NZ '
(82) UE1564001 1| PAD, ACCESSORY i

FOR GER/UK/FRA/NOR/BEL/NLD/CHE/! RL/FIN/AUS/ITA/ISR/POR/SWE/CYP
(83) UF8930001 1| POP FAX520MC FOR ARL/NZ
(84) UF6891001 1| WIPING CLOTH ASSY
(85) UF88200001 1] TEST CHART-025

MODEL FAX520DT/520MC




INDEX

CODE REF.NO. Page CODE REF.NO. Page
UA0272001 =314 2 UF6841001 -(72) Z
UD4086001 -(77) 5 UF6857001 -64 4
UE1451001 -(81) 5 UF6857002 -64 4
UE 1486001 -(79) 5 UF6864001 -33 3
UE 1488001 - (80) 5 UF6883001 -65 4
UE1564001 -(82) 5 UF6885001 - 65 4
UE1578001 - (78) 5 UF6891001 - (84) 5
UE1579001 - (78) 5 'UF6905001 -23 2
UF4444001 -62 4 UF6932001 -48 3
UF5118001 -(77) 5 UF6972001 - 60 4
UF5119001 -(77) 5 UF6974001 - 60 4
UF5164001 -(77) 5 UF6983001 -57 3
UF5535001 -20 2 UF7095000 -42 3
UF5745000 -41 3 UF8733001 -40 3
UF6459001 -31-6 2 UF8733002 -40 3
UF6612000 -1 2 UF8786001 -31-3 2
UF6613001 -2 2 UF8810001 -32 2
UF6618001 -13 2 UF8820000 - (85) 5
UF6620000 -14 2 UF8853001 -32 2
UF6622001 -26-2 2 UF8854001 -32- 2
UF6625001 -3 2 UF8855001 -32 2
UF6626001 -4 2 UF8856001 -32 3
UF6628000 -6 2 UF8857001 -32 2
UF6629000 -7 2 UF8858001 -32 2
UF6630001 =12 2 UF8859001 -32 2
UF6631001 -25 2 UF8860001 -32 2
UF6638001 -15 2 UF8863001 -32 2
UF6645000 11 2 UF8864001 -32 2
UF6646001 -9 2 UF8865001 -32 2
UF6665000 -28 2 UF8894003 -(74) 5
UF6675001 -5 2 UF8894004 -(74) 5
UF6676001 -19 2 UF8894005 -(74) 5
UF6677001 -17 2 UF8894006 -(74) 5
UF6680001 -31-5 2 UF8894007 -(74) 5
UF6681001 -31-9 2 UF8894008 -(74) 5
UF6706001 -21 2 UF8894009 -(74) 5
UF6711000 -22 2 UF8894010 -(74) 5
UF6712001 -37 3 UF8894011 -(74) 5
UF6751001 -36 3 UF8894012 -(74) 5
UF6751002 -36 3 UF8894016 -(74) 5
UF6752001 -38 3 UF8894018 -(74) 5
UF6752002 -38 3 UF8894026 -(74) 5
UF6753000 -44 3 UF8894027 -(74) 5
UF6754001 -47 3 UF8895008 -(74) 5
UF6754002 -47 3 UF8896001 -(75) 5
UF6755001 -50 3 UF8897001 -(76) 5
UF6756001 -49 3 UF8898001 -(76) 5
UF6758000 - 51 3 UF8899001 - (76) 5
UF6759001 .52 3 UF8900001 - (76) 5
UF6760000 -53 3 UF8901001 -(76) 5
UF6761001 -55 3 UF8902001 -(76) 5
UF6762000 -54 3 UF8903001 - (76) 5
UF6763001 -45 3 UF8905001 -(76) 5
UF6768001 -(71) 4 UF8906001 -(76) 5
UF6769001 -(72) 4 UF8907001 -(76) 5
UF6810001 -31-1 2 UF8930001 -(83) 5
UF6820000 - 68 4 UF8965001 -26 2
UF6829001 -34 3 UF8982001 -31 2
UF6829002 -34 3 UF8982002 -31 2
UF6832001 -(70) 4 UF8982003 -31 2
UF6833001 -(71) 4 UF8983001 -31 2
UF6840001 -(73) 4 UF8984011 -57 3

- (73) 4 UF8985001 - 59 3




INDEX

CODE REF.NO. Page CODE REF.NO. Page
UF8986004 -59 3 087310815 -8 2
UF8986007 -59 4 -16 2
UF8987005 -59 4 -31-2 2
UF8988006 -59 4 -56 3
UF8988010 -59 4 087311015 -35 3
UF8989008 -59 4 087320815 -24 2
UF8989009 -59 4 -237703001 -(77) 5
UF8989011 -59 4
UF8989012 -59 4
UF8983014 -59 4
UF8989016 -59 4
'UF8989018 -59 4
UG2418001 -58 3
UG2422003 -58 3
UG2422004 -58 3
UG2422005 -58 3
UG2422006 -58 3
UG2422007 -58 3
UG2422008 -58 3
UG2422009 -58 3
UG2422010 -58 3
UG2422011 -58 3
UG2422012 -58 3
UG2422014 -58 3
UG2422016 -58 3
UG2422018 -58 3
UG2422026 -58 3
UG2422027 -58 3
UG3005000 -43 3
UG3188001 -39 3
UG3290001 -67 4
UG3299001 -67 4
UG3409001 -67 4
UG3468000 -69 4
UG3512001 -29 2
UG3514001 -46 3
UG3517001 -63 4
UG3543001 - 66 4
UG3543002 -66 4
UG3616001 -31-8 2
UG3636001 -31-7 2
UG3645001 -10 2
UG3646001 -18 2
UG3679001 - 26-1 2
UG3680001 - 61 4
UG3681001 -61 4
UG3682001 -61 4
UG3683001 -61 4
UG3684001 -61 4
UG4169001 -67 4
UG4204001 -67 4
UL8211001 -67 4
UL8217001 -67 4
UL8218001 -67 4
UL8219001 -67 4
uL8230001 -67 4
UL8231001 -67 4
uL8289001 -67 4
uL8290001 -67 4
UL8384001 -67 4
U24014001 -30 2
U85683001 -67 4
226317001 -27 2




	Main Menu
	Main Fax Menu
	Main Part View
	Index

